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I | Mutiply | Remember the | Term to term How do you get from one term I Integer Whole number that can be positive,
and rule to the other negative or zero.
divide rules: - .
positive =4 2 Nth term Difference x n + zero term 2 | Factor A number that goes into another
and - number with no remainders
negative - o= . 3 | Product Another word for multipl
numbers oy = Geometry: Trigonometry Py
+ . = | | Pythagoras’ 4 | Geometric Multiple by the same value to get the
Theorem c b next term
2 | LCM- Lowest number that is in
Lowest both timetables. 5 | Fibonacci Add the previous 2 terms to get the
Common | 3:3,6,9, 12 . sz . next .
Multiple | 4:4,8,12, 16 Fryee ) )
P 6 | Hypotenuse | The longest side of a right-angled
3 | HCF - Highest factor that is in both 2 SOHCAHTOA triangle, opposite the right angle
Highest numbers (cover up the one B
Common | 18:1,2,3,6,9,18 you need) 7 | Term Each number in a sequence.The |
Factor 24:1,2,3,4,6,8,12,24 sin6 | h number is the |5t term.
4 | Product Factor trees
of primes
60 .
7N Speed, Distance, Density, Mass, Pressure, Force,Area
6 10 tos8 | h Time Volume
OO ®
m
22x3x%x5 D F
. D |V
tanB8 | a S T ) P
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| | Collecting
like terms

2 =

Subject: Maths

Term: Half term 2 Page |

Year Group: | IF

eg3x+7+8x%+2x —10 =
8x2 +5x -3

(x? and x cannot be collected together
when added or subtracted)

2 | Substitution

x=8 and y=-2 Find 3x+2y
(3x8)+ (2x-2) = 24-4=20

Replace the letters with numbers.

3 | Expand Multiple the outside of the
single brackets with all of the inside.
brackets n

3(x-3)=3x-9
AN

4 | Expand m
double (x-9)(x+6)
brackets =l

x? +6x-9x -54
Simplify: x? -3x -54

5 | Factorise

4x + 32 = 4(x + 3)

6 | Factorise
quadratics

+ x— 2 numbers

X2+ 7x+ 12 that X to
give 12

(x+3)(x+4) | and+to
give 7

JGSceed

ratio

Number: Percentages Geometry: Area and Perimeter
| | One quantity | Find 30 as a % of 78. | | Circumference [IX Diameter
as a % of 30/78x100= 38.5% Perimeter
another
2 | Parallel Base X dicul
2 | %increase | Increase 30 by 25% AE::; elogram h:?eht perpendictiar
and 30 x 1.25=37.5 &
decrease Decrease 40 by 35% 3 | TrapeziumArea | (a+b) x perpendicular
40 x 0.65= 26 height / 2
3 | Finda% Chane 4 | Triangle Area Base X perpendicular
zhange 100 height / 2
Original
5 | Parts of a circle -
4 Compound A= P(] + I_]n circumference
interest
A = final amount including principal
P = principal amount
i = interest rate per year
n = number of years invested
| | Relationship 5 blue sweets 2 red
between Ratio 5:2 6 | Circle Area [1 X Radius *
fractions and Fraction of blue 5/7

Direct
proportion

yoCx

y= Jox for a constant k




{
~dB
Beckfoot

I Draw the
graph y=3x+4

Subject: Maths

Term: Half term 2 Page 2

vy 2 1 4 7

Statistics: Averages

| Mode Most common
number in a data

set

2 Median The middle

y=mx+c

m = gradient ie. How steep the
curve is

c =y intercept ie.Where the
graph crosses the y axis

number when all
numbers are in
order

3 Mean Add all the data

2 Gradient of a
line

y=mx+c (m is the gradient)

)

Change in X

b,
o

X

To calculate the gradient:
m=y/x

up and divide by
how many there
are

4 | Range Highest value —

lowest value

Create a fX
column and
multiply x by the
frequency

5 Mean from a
frequency
table

3 Parallel lines

If m is the same.The lines are
parallel

Add the answers
together then
divide by the

total frequency

Year Group: | IF JGSCeed

Key Vocabulary

I Rhombus A rhombus looks like a
square that has fallen over..
All sides have equal length.
Opposite sides are parallel,
and opposite angles are
equal (itisa
Parallelogram).

2 Quadrilateral The name given to any 4
sided 2D shape.

3 Interior Inside
Interior angle: angle inside
the shape.

4 Polygon Any 2D shape with
straight lines

5 Sum Another word for add

6 Expression Combination of different
terms with no equal sign

7 Quadratic Contains the term x?

8 Proportion Part of a whole.
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Statistics: Probability Number: Fractions and decimals Geometry: Transformations
| | Probability | | Add and Make sure the denominators are | | Reflection
scale subtract the same before adding / (in the y-axis)
fractions subtracting the numerators
2 | Mutually Events that cannot happen at the same || 2 MUItiPIY Mp_lﬂg:_multipl)'/ numerators U
exclusive | time. E.g flipping a head and a tail and divide | together then multiply the 2 %
. fractions denominators together ] Rotation 90 degree,
3 Expectgc.:l Generating ex.pected.numbe-rs based Dividing: Keep the first fraction A anti-clockwise about
probability on theory. Eg if you flip a coin 100 Flip the second fraction then [ TT 1 (1,0
times you would expect 50 heads as change the divide sign to multiply. : —
the probability is 0.5 (0.5 x100 = 50) 3 | Translation / B
2| et orobabil it 3 | Convert + 1 1 Use vector F o 4 A L
elative robability generated from an mixed 3 notation ( g2 (MHF/W'JH N L/
frequency | experiment.Eg.If you roll a dice 50 numbers/ - = — o 1
times and get 7 6s.The experimental improper :-:L 4 4 T T T

probability is 7/50 fracti 4 : Enlargement :
e I —— g A Sf 2 from (0,0)

I | Solve 5x=60 3| x on both 3x+2=6x-5 Key Vocabul
one step | x=60/5 sides 2=6x-3x-5 (move the smaller x first) €y Vocabulary
equations | x=12 2+5=3x | | Reciprocal The reciprocal of a
7=3x number is: 1 divided by
7/13=x sox=17/3 the number
2| Solve 4% - 8 =24 4 Inequalities An open circle means that A filled in' ci_r‘cle means that : )
the value is not included: the value is included: If x is between two values, use two circles:
two step | 4x = 32 ona X > 2 | [xis greater than 2 | (Mgt wepiot ] O O
equations | x = 32/4 number line o > o—7—> — l<x<6
x=8 N A B e 0123 4567 8
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2 2
Substitute | Eg. Substitute numbers into | | Squared 12 = 1 x 1 = 1 | uC:iZ:rt squared éc;ntot;ni; 100
numbers the formula for the area of a numbers 2 = 2 x 2 =4 . . 2
: : 3em 2 = X = Square this conversion 100
into a trapezium: 3 3 3 9 9
ol 3 + 1002 = 0.0003m?
2 | Cubed 3= =
numbers T 1S 2 [ Convert cubed 3m3 to cm3
e 22=2x2x2=8 units M to cm = x100
(@a+b)h  (B3+7)x6 138=3x3x3=27 Square this conversion 1002
2 2 3 x 1002 = 30°000cm?
. 2 In d ex _— m- —{index, exponent, power
=30 laws ,,9 ¥ - e 3 | Vol of cube/cuboid | Volume= length x width x height
Rearranging | Make a the subject of the Z,,,’:‘L,,: s
formula formula | _ 5., 21 (a'm)n = g™ Vol of prisms Vol= Cross section area x length
-21 -21
b-21=5a 3| Standard Ordinary Number | Standard Form 4 Su'rface area of
-5 o5 form 29 29 x10° p|:|sms (w?rk ohut
b-21-a BER ETtio: t.eareao eac
5 side)
0.3 3x10°
0.09 9x107?
Ke)’ Vocabulary Geometry: Scale | | Round to 3.248 rounded to 1 d.p.
| | Expression | Numbers, symbols and operators (such as + and x) - : decimal 3248 324832
grouped together with no equals sign Appropriate | The height of a places (dp) e e
measures door is
. + — 9 .
2 | Equation 4x+7=5 terms that’s are equal. approximately 2 7| Round to e
3| Formula Has an = and 2 or more terms. It can help work metres significant 268 3268 3000
out area, volume, speed etc. figures (sf) b || 2ok he vt gt o0
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Statistic: Representing data

Geometry: Loci

Locus of points eguidistant
from a point & will form a
circle with center A,

B

2
EN

jul

Locus of points that are equidistant
from two lines will bisect the angle
formed by the two lines,

| | Data I) Specify the problem/ pick hypothesis
handling | 2) Collect data
cycle 3) Process the data and represent on a graph
4) Interpret and discuss the results
2 Ple Comedy Action Romance Drama SciFi TOTAL
Chart 4 5 (5} 1 4 20
20% 25% 30% 5% 20% 100%
4/20 x 360° 5/20 x 360° 6/20 x 360° 1/20 x 360° 4/20 x 360° 2600
=72° = 90° = 108* = 18¢ =72°
3 | Histogr | Like a bar chart but uses continuous data and
am all the bars are touching. Frequency is
measured by the area of the bar.
4 | Scatter )
graphs o, ..
'1-\' ““‘ .l - )
Ol Positive Ol Negative Ol No X
Correlation Correlation Correlation

Speed
distance
time
graph

[Om — 20m e s
< 4
They have 8
o 2
Stopped z:
mOVIng oo 5 10 15 20 25 30 35 40 4
Time taken (minutes)

Locus of points equidistant
from a line segment.

Locus of points equidistant from two
points A and B forms a perpendicular
bisector of the line AB.

Use a value
table to
draw y= x?
x |32t ]o]t]a]s
y[o]afrfofur]afe
Roots=
3and | @
y intercept \ :
5 35 P A
1
(Minsmum Value 1
Tu rni ng ofc‘q_uvntioll \x"ith 8
. positive gradient) 10 4
point
(-1,4)

Key Vocabulary
I Construct Draw with a compass and ruler
2 Interpret Say what the results mean
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Geometry: Pythagoras Geometry: Angles Key Vocabulary
| | Finding the Find c. . | | Sum of n-2) x 1 80° | | Hypotenuse | Side opposite the
hypotenuse a+br=¢2 4 . Interior right angle on a right
4246 = ) = angles N is the number of sides. angle triangle (longest
. side)
c” =52
c=J52 2 | Interior Inside
i 2 | Sum of Sum of exterior angles of any ) :
_ Exterior shape always add to 360 3 | Exterior Outside
2 | Finding th |
SLr:)'thiegr ; Find the alue of a nee 4 | Scalar A scalar has only
side at=ct_b? magnitude (size)
" a=+c?—h* : 5 | Vector A vector has
) 5-’:'\-';13: _122 X+y+2z=2360° a+b+c+d=360° n?agniFUde and
5 5 2= J169—142 direction
a=+25 Geometry: vectors /
a=> I Add and subtract vectors Ifx= (2) andy = (f[)
3 | Proveit’sa | A triangle has the sides 3cm,4cm and 6cm. wie
right angle | Is this a right angle triangle? x+y=(51a 4
triangle a?+ b% = c? -
S -ye (s 5
Jr)e=36 2 | Multiplication of a vector
25 #36 (they are not equal) uitiplication ot a vecto ’71_‘ 1x4 ’74—‘
. : , by a scalar 4x|2| = |2x4| = |8
It is not a right angle triangle.
3 Represent a vector on a See diagram opposite

diagram




